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T =4 FHE /N s B EE S fth T 5

i T 3 A Ko e —TH2-8

T g SRk 304E 5H 24H % KR 304E 108 9HFET
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VIR e 4%A 141,918,480 131,406,000 (A) 10,512,480
EHERE AR 147,944,880 136,986,000 (B) 10,958,880
ERIES S| 127,839,600 118,370,000 (C) 9,469,600
YA S SR | 133,267,680 (F) 123,396,000 (D) 9,871,680 (E)
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% W HBiR/NEREEFNEREBMIE No. 1
RETZEEI REtEHEE .
= . 7=t = 3 L 3 7 ié;i -5
® H W= g B B s g B B o | EUEEE WE
[ERZAR %
| #%ETHE =X 88,353,129 =Y 92,873,916 4,520,787 HE%E
II| EXEE LS =Y 4,535,917 = 4,535,917 0
ID| AR T2 = 10,568,040 = 10,568,040 0
RN X 103,457,086 107,977,873 4,520,787 H&%A
Him g
I ek =X 3,571,079 =Y 3,830,310 259,231 H§%H
| BUGEsE = 9,322,886 = 9,538,381 215,495 H9%H
— X B =X 15,055,825 =K 15,639,573 583,748 HE%H
5w 3 27,949,790 29,008,264 1,058,474 Ha%H
EFF 131,406,876 136,986,137 5,579,261 HE%E
FEraEE (T3 M) T AT 131,406,000 136,986,000 5,580,000 H4%E
THE RS Y%A 10,512,480 10,958,880 446,400 HE%E
wER (LEE) 141,918,480 147,944,880 6,026,400 H4%E




& BIZ/NEREERENEREM TS No. 2
B B B E | us wm B aE B wn sm  ew | EOMME 6%
I [BEIE
[a |EEEBRAMEM U TF 2V 54,429,656 K 58,757,635 4,327,979 HEEE
I'b & BRBRPYE Bk fie T 2V 22,706,352 =K 22,899,160 192,808 4%H
Ie | PN s T 2V 11,217,121 =K 11,217,121 0
=i 88,353,129 92,873,916 4,520,787 Y%A




% FR HBiR/NEREEFNEREBMIE No. 3
RETE EAT RETERR .
. - 1EiEEE
® H W= g B B s g B B o | EUEEE WE
[a |EEENERMBIETSE
1 |EERGETE 1 K 4,957,123 1 =X 4,957,123 0
2 Pk ILE 1 = 5,578,823 1 = 5,578,823 0
3 |AhMEELE T 1 K 3,427,975 1 =X 7,821,909 4,393,934 HE%E
4 |EEETEH 1 = 35,140,539 1 = 35,140,539 0
5 |BEKETHE 1 =X 533,410 1 XK 533,410 0
6 |ZFofth T3 1 = 3,762,629 1 = 3,762,629 0
7 |WE-sE 1 K 1,029,157 1 =X 963,202 -65,955 | JE%E
&t 54,429,656 58,757,635 4,327,979 H4%H




% FR HBiR/NEREEFNEREBMIE No. 4
RETE EAT RETERR et
® H W= g B B s g B B e | EUHEE WE
Ib |EEBRANEERETSE
1 |EERGETE 1 K 1,601,300 1 =X 1,601,300 0
2 |[BEdELE 1 = 14,470,956 1 = 14,470,956 0
3 |NEEKE T 1 K 1,889,892 1 =X 2,043,134 153,242 HE%E
4 |[BEXRETE 1 = 494,574 1 = 494,574 0
5 |FoMT=H 1 K 2,333,610 1 =X 2,333,610 0
6 |-y 1 = 1,916,020 1 = 1,955,586 39,566 |HE%H
&t 22,706,352 22,899,160 192,808 HE%H




% FR HBiR/NEREEFNEREBMIE No. 5
RETE EAT RETERR a3
® H W= g B B s g B B o | EUEEE WE
Ic|BEEN LBETSE
1 |G T 1 = 454,116 1 =X 454,116 0
2 |[BEdELE 1 = 2,376,965 1 = 2,376,965 0
3 |k s T E 1 = 3,569,926 1 =X 3,569,926 0
4 |[BEXETE 1 = 47,946 1 = 47,946 0
5 |2zyb g OV FDfh T8 1 = 3,139,820 1 =X 3,139,820 0
6 |fi- st 1 = 1,628,348 1 = 1,628,348 0
&t 11,217,121 11,217,121 0




